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1. 9o Si=igd @ |UH 3d &9 7.
A A 9. Al %, am g o
it I _
(1) ®F A (2) ®FTH
(3) wad & oIfT * (4) & & A7 §
The marine oil field, Bombay High is near :
a. Mumbai b.  Vashi c. Thane d. Alibag
Answer options: _
(1) Onlya (2) Onlyc
(3) Onlybandec {4) Onlycandd

2. m’waﬁmaﬁwmﬁﬁm?

(1) SEg — A (2) didE - e

(3) ieag - faygt (4) TTEE — AR

‘Kadappa’ type of rock is found in which districts of the State of Maharashtra ?

(1) Chandrapur — Nagpur (2) Nanded — Bhandara

(3) Kolhapur - Sindhudurg (4) Amaravati — Nagpur
3. gy fyewm SRS fagieea s e,

(1) =T wew C(2) WESRE W

(3) d-yeF waw (4) W wm

In Chandrapur district, scattered settlements are found due to

(1) Forest-covered region (2) Rain-shadow regior;

(3) Semi-arid region (4) Remote area

4, i fawrmmes ot aregeh e 2

(1) 54 (2) 52
(3) 56 4) 51
How many talukas are there in Nashik division ?

(1) 54 (2) 52
(3) 56 (4) 51
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5.  TENSEA YAREld WAl TEUEHM.
. HiHw 9. "edrsl
%. dfvem wERryg , s faed
gt I :
(1) wFa A (2) ®Fad
(3) a8 (4) wFd 3 T *

The Eastern part of Maharashtra is known as .
a. Konkan b. Marathawada

¢.  Western Maharashtra d. Vidarbha
Answer options :

(1) Onlya {2) Onlyb

(3) Onlyd (4) Onlyaandc

6. SHTVAT 2011 =41 Gewia @refier fau™ ga
¥H. AINH HAd AR Arnae 3 fSegad g o a1 e diwaed
gaq A ATl
g9, T Toesarh dieaea= s9ar 196 318,
%,  Hhica frogar= A= ST 700 381 e 1R,
gt I
(1) % 99 31 S0 3R
(2) e fauE T SR 38
(3) wd faue & U 3R
(4) Taum o7 o71fir § s ammed

Observe the following statements regarding the 2011 census :
a. The highest population is found in Thane district of Maharashtra while the
Pune district ranks second in population.

b.  The density of population of Ratnagiri district is 196.

¢.  The density of population of Kolhapur district is more than 700.
Answer options :

(1) Only statement a 1s correct

(2) Only statement b is correct

{3) Only statement ¢ is correct

(4) Statements a and b are correct

FHoel] HETETS S / SPACE FOR ROUGH WORK




A 5 P15
1. TRATHS THv Weandshl fordl Torh ©S WIS ed ?

1) 7-00% (2) 7'28%7

3y T-20% _ (4) T722%

What is the percentage of villages in Maharashtra out of total Indian villages ?

(1) 7-00% (2) 7-28%
(3) 720% (4) 7-22%
8. HihoTTdle IqT T STET AT IR,
(1) ot 7 afisdt (2) 9T 9 IoBE
(3) e & gl (4) AEE 9 HEEs
rivers are longer in Konkan region.
(1) Savitri and Vashishti (2) Vaitarna and Ulhas
(3) Kajvi and Muchkundi (4) Tansa and Bhatsai

9. 16-5-2018 @ 21-5-2018 AN VA TshiaTee WS FHZEL G413 & ?
(1) DAYE _ (2) SAGAR
(3) LUBAN (4) GAJA

Which cyclonic storm was formed between 16-5-2018 to 21-5-2018 over Arabian Sea ?

(1) DAYE (2) SAGAR
(3) LUBAN (4 GAJA
10. 26 9, 2005 =1 feasht v feawm watg S 944 dift. osw wevaEh g a1

femmoft gmeft.

(1) et @) T

(3)  uEERvR (4) RM

On 26 July, 2005 the maximum rainfall of 944 mm was recorded in

(1) Sindhudurg (2) Mumbai
(3) Mahabaleshwar (4) Matheran
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11, ST SR A heicdl Teie 9oaas HBHHATER SR HU :
A,  UEE Afiel 99eR 9 e
9. TS e
F. Yddl AN AR
2.  FISNH WEH GANIR
T I
(1) A, 9,%,3 (2) 9, %, 8 N (3) %, 3,7 (4) B, 3,9, %
Chronologically arrange the following movements led by Dr. Ambedkar :
a. Chavdar Lake Agitation at Mahad
b.  Burning the Text of Manusmriti
¢. Satyagraha at Parvati Temple
d. Satyagraha at Kalaram Temple
Answer options :
(1) a,b,c,d (2) b,e,d,a 3) e, d,a,b (4 d,a,b,c
12. 1886 <A1 Foohwdledl WRAW UK TH=AT SAUCEI AR Taedl It Faret
AT WSO e, wa e aree, gt anfr o= wHeEw g,
(1) Fsge A3 (2) =B TR s
(3) HRa St (4) TI9Te T TG
The Caleutta Session of the Indian National Congress in 1886 was remarkable for a
number of fiery speeches given by Maharashtrian leaders such as Dinshaw Wacha,
Daji Khare and .
(1) Abdul Aziz (2) Bal Gangadhar Tilak
(3) Moropant Joshi (4) Gopal Krishna Gokhale
13,  19209Y it ‘wrgfe wid o gfear <ff v et
(1) 8. <isf (2) #.a1. =m
(3) wH.UA. U¥ 4y M. @
The ‘Communist Party of India’ was formedby____ in 1920.
(1) N.M. Joshi (2) S.A. Dange
(3) M.N. Roy (4) R.P.Dutt
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14. . STCHNH TIGET TESH 8 WIS HidE gd v @ o gorh g
Hle fszamed fraomand) Teea ) afgear Ko TER fommmey ot S,
(1) TORRSTS (2) TR (3) TEHwETS (4) =Y
Dr. Atmaram Pandurang Tarkhadkar was a social revolutionary who has the credit

of being the father of , one of the first Maharashtrian women in the
modern times to go to Britain for education.

(1) Maneckbai (2) Cornelia (3) Rukhmabai (4) Annapurna

15. WEH FEel @3, fGga $Ude, e g8 ot @ swifderes CLI]
(1) Y 919 Geell | (2) e @i Gean
(3) 3fta sie @ear (4) YO &f9 Geo

Bhagwan Babaji Khule, Vitthal Kurolikar, Zafar Hussain Pinjari are the names of
revolutionaries who were given eight year long jail sentences in the

(1) Pandharpur Bomb Case (2) Nashik Bomb Case
(3) Aundh Bomb Case ‘ (4) Pune Bomb Case
16. 1899 REA Tl T FYTETH HiqHNH FRAFTS gUa[ _ =7 SEe wEA
= =,
(1) #aE s (2) UTETY FEEe
(3) TMWIE Soad 2 (4) WWISERY "R
In 1899, besides the two Chapekar Brothers, was hanged to death in
Pune for revolutionary activities.
(1) Mahadev Ranade ' (2) Rajabapu Mhaskar
(3) Damodar Balwant Bhide (4) Bhausaheb Ghatge
17. @iE I 3 A Wisd & I AAfaarg I gER Uy A1 T aeEA o
LIEG I
(1) fow 2 fae ® &= @) emEEd
Lord had opined that child marriageé and compulsory widowhood were

two evils which belonged to two sides of the same coin.

(1} Ripon (2) Lytton (3) Bentinck (4) Dalhousie
T HHTITS! SFT / SPACE FOR ROUGH WORK P.T.O.
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18.  wfig SR IREw Huh SR g wwee Rt weh |, W, de i i
TR 3T Y el shomden e drequamrandt 1909 ned T el
(1) dwe afeda =i (2) v fire ggg swifaaem
(3) IR fEaatis g (4) = YiEd g
After the well-known labour leader N.M. Lokhande passed away, other leaders such
as Bhivaji Ramji Nare, S.K. Bole and Harishchandra Talcherkar sought to solve the
problems of the mill workers by organisingthe _ in 1909.
(1) Social Service League (2) Bombay Mill Hands Association
(3) Kamgar Hitwardhak Sabha (4) Bombay Postal Union
19. ﬁwma‘lw%ammm%wgéga 1865 TEA qUATd SV afher favan faamg e @it 2
(1) HIgET S (2) AW §T92
(3) A iR (4) TR fasret
Due to the encouragement of Vishnushastri Pandit, which lawyer from Pune
married a widow in 1865 ? _
(1) Pandurang Karmarkar (2) Narayan Bapat
(3) Narayan Bhide (4) Moroba Vijaykar
20. HEWHS |EY 1870 g 719 H g4 ?
(1) I |9 (2) AT W 9
(3) TENY SFHIfHueH (4) g T
What was the initial name of Sarvajanik Sabha before it was renamed as such in
1870 7 ‘
(1) Deccan Sabha (2) Poona Sarvajanik Sabha
(3) Maharashtra Association (4) Poona Association
21. O WElEdeh! VY TSITEAT T iRy v AT ?

(1) TS HIVATE FHH FEAUTET TG FHROR T8

(2) TSw =Ygl oy FIedae 54 g TR 9 Aiea fiagm gde.

(3) T=a Fiviewdt AieTfaeg v, 39, 9, T srmn 991 W6 a1 FRUMEs HEHTE HIOTR
EILIN

(4) SOASR! TeHEl A

At present, which one of the following is a ‘Directive Principle of State Policy’ ?

(1) The State shall not deny to any person equality before law.

(2) The State shall provide free and compulsory education for all children until
they complete the age of 14 years.

(3) The State shall not discriminate against any citizen on grounds of religion,
race, caste, sex or place of birth. '

(4) None of the above

FoedT SIS SN / SPACE FOR ROUGH WORK
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JGTEATS EE AT 1946 T S SEsSM1 TE disdr «rea 9 @WieflAushl HioEr e
7ogAT ?
(1) WA 2 Tae, Qs JoEEs o,
(2) =gl fafiee anfad) @@ dem e s A,
(3) ¥aad WRATE! Y G0 9 SAUHR FHAhgT I g
(4) WTGTEA T T HEYEE awal foefl Srse.

Which one of the following was nof a part of the ‘Objectives Resolution’ moved by
Jawaharlal Nehru in 1946 ?

(1) India as an Independent, Sovereign Republic.

(2) No safeguards will be provided to any particular classes.

{3) All powers and authority of independent India are derived from the people.
{4) All people of India shall be provided equality before the law. |

23.

FreTerehl IV TG TS Ioag 25 el amfas a7med ?

q. oo AT (TET) T 6

F.  GHN ST FOATET TEE

3. owehie fafere gnig ymfe st geas g5

ot I ;

(1) % A, 9 i = (2) ®FTE, P g
(3) wH A, FaUS (4) 90 94

Which of the following are the provisions of Article 25 of the Constitution ?
a. Freedom of conscience

b.  Right to profess a religion

c.  Right to practice a religion

d.  Explicit right to convert individuals to a particular religion

Answer options :
(1} Onlya,bandc {(2) Onlyb,candd
(3) Onlya,candd (4) All of the above
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24, el dfaue ad= wiven afieis e S 8 2 ?

(1) g1y |fidl

(2) g R afid

(3) TR T STV STCTHGATHIE! Afed!

(4) wifqw |fqam afied

Which of the following committees of the Constituent Assembly was chaired by

Jawaharlal Nehru ?

(1} Steering Committee

(2} Union Powers Committee

(3) Committee on Fundamental Rights and Minorities

(4) Provincial Constitution Committee
25. WA TSIHEHAIER AR

3. Sifaa anf safrra ware= ® Siveard aRferda foag ga Jom

9. Sfifaa anfn safeema = 7 g6 yer=ar snofiamfiear e Tadigr feres gae 5
Tehd '

%, Sifam anf safFT @e 3 FEUR e o dgd feuad Seer Sy ek

Tk v faum/Aaue stsr sn/smea ?
(1) hed A (2) wad A I ¥
(3) wad ® (4) aTERI wehdl AT

Under the Indian Constitution, a citizen
a. cannot be deprived of his life and personal liberty under any condition

b. can be deprived of his life and personal liberty by the President during all types

of Emergencies

c. can be deprived of his life and personal liberty only in accordance with the
procedure established by law

Which of the statements given above is/are correct ?
(1) Omnlya {(2) Onlyaandb
(3) Onlyc {4) None of the above

FeedT HHIETS! IR / SPACE FOR ROUGH WORK
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26. WRAT=A GiaUM Nd Slevige! @refiath] Hivl gaTase §i ?
(1) wifeer fqama asm 292 959, J&I 4% AEeied] TAWg 4 T fRamddisg 93
(2) ifae fagren gyT 294 TeET, GET AYE FHAT AT 4 A0 Famadingd 91
(3) Tadtm WA 291 9T, I&F AHRGT 3 A0 fEmdissd 95
(4) fadtm v 292 926, I&F AHHGT 5 AT REmdished 92
Who among the following was included in the Indian Constituent Assembly before
partition ?
(1) 292 members from Provincial Legislative Assemblies, 4 from Chief
Commissioners’ Provinces and 93 from Princely States
(2) 294 members from Provincial Legislative Assemblies, 4 from Chief
Commissioners’ Provinces and 91 from Princely States
(3} 291 members from British Provinces, 3 from Chief Commissioners’ and 95 from
Princely States
{4) 292 members from British Provinces, 5 from Chief Commissioners’ and 92 from
Princely States '
27. hR-USd, 49l oW Eed faue faam o

HA. A TSI Hd ATGRR — Jurle, HEwRT, i sufer =mamern — Hg anfor
e feamyd faet aired.

W, A Tsaued gl ot s feetemn dunfie sfuseroen gnfiy foredr vse St
I

%,  FHEER sl T guz wdiE R T s fadiies Wi og, o TRuEr .
Tt I ;

(1) T 31 oo § SO« R, T & gHhie

(2) Taum ¥ anfl & e IR, W A TH

(3) Taam &1 ool % st g, WMo qHR

(4) | faum == 1@

Consider the following statements regarding ‘Centre-State’ Relations :
a. The Constitution of India divides all powers — Legislative, Executive,
Financial and Judicial — between the Centre and the States.

b.  The Constitution of India defines the territorial limits of the legislative powers
vested in the Centre and the States.

¢.  Neither the Parliament nor a State Legislature can be said to be ‘sovereign’ in
the legalistic sense,

Answer options :

(1) Statements a and b are correct, c is incorrect
(2) Statements b and c are correct, a is incorrect
(3) Statements a and c are correct, b is incorrect
(4) All the statements are correct

T BTG AR / SPACE FOR ROUGH WORK P.T.O.
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28. gAY hive faum wer 7Et ?

(1)
(2)
(3)
(4)

Y TSTe-=1 SiHcTasavii= qrE 26 Tieaet, 1949 3R.
42 =1 FRATGRR J WRATE Tgeda ‘udfue’ 71 weg Fee.
42 it meAIgERl 1976 AL .

TR qTee-=41 TETTE Aigaoe] gitaes, s ofor aoehe == 90 wifegue
WA= geAaE Hdeiel 3TRd.

Which of the following statements is nof true ?

(1)
(2)

3).

4)

The date of implementation of the Indian Constitution is 26th November, 1949.
The word ‘secular’ was added to the Indian Constitution by the
42rd Amendment.

The 42" Constitutional Amendment was enacted in 19786.

The principles of social, economic and political justice mentioned in the
Preamble of the Indian Constitution are borrowed from the Constitution of
USSR.

29,  yHfge T=T BV

. Tsa g v fafie gnt=n ﬁﬁvﬂ SRR

g,  TSF 3 gHige AAd

%. =T 3 HIVTE Yaial MERed 9

T T wiverEl fafire et et 78

3. T yuiea fads q@e

FAIE! FrvravE faum/faun stist smd/emed ?

(1) % A (2) $HH

(3) Wad 9, % I g ' (4) o %, g afor §
Secular State means .

a. the State is against a particular religion

b.  the State is pro-religion

¢. the State will not have any foundation of religion

d. the State does not owe loyalty to any particular religion
e. the State is not hostile to religions

Which of the statements given above is/are correct ?

(1) Onlya (2} Onlyb

(3) Onlyvb,candd {4) Onlyc,dande

FHoedT HIFTEIS! AN / SPACE FOR ROUGH WORK
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30. 42 7 AIGERIGR Wiiadeht HIU! a3 qw Srseft et ?
. THAE =y AT g SRR TEd
¥, TN SHASATYATE SIS TEHT
%, qafE, 91 o 9= e g
.

FHER JARTH Fcare
et fegea wie mym I v e
(1) %ad 31 aqfor & (2) ad 3 IO 5
(3) Wad 3, 9 AT & (4) &,9 Fanfreg

Which of the following Directive Principles were added by the 42°¢ Amendment ?
a. Equal justice and free legal aid

b.  Participation of workers in management of industries

c.  Protection of environment, forests and wildlife

d. Promotion of cottage industries

Select the correct option from the codes given below.,

(1) Onlyaandb (2) Onlyaandec

(3) Onlya,bandc (4) a,b,candd

31. wEeH fgdfig avmTe RV YEIEhl v e FHAE] SaEER] TSt HEd ?
A, UEREN ggEreAl e EfeEs
§. A=A g vialHirea
F. uETead wrefifd e
T TSA g9A i fiesam 2o

gt I

(1) wed A 1M1 o T amRA , (2) % ¥ ofor g w0 IR

(3) waa A, 7 a7f % S0 A (4) =it gd SO oRd

Which of the following purposes is the Rajya Sabha, as the second chamber, expected
to fulfil ?

a. Give second thought on an important decisions

b. Represent State rights

c.  Delay hasty legislation

d. Assure equal representatlon to States

Answer options :

(1) Only a and ¢ are correct (2) Only b and d are correct
(3) Only a, b and ¢ are correct (4) All of these are correct

Foed] HHATS! SIFN / SPACE FOR ROUGH WORK P.T.O.
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32, URATSHT HEETHEHTE el ASHIl §HAU <@d WEaunl %M oal I, 4Erd)
TG IRV IUTRFISHT Shedl 3T1ed ?

g, figelt 9m d 3O wwh qEEE JA9e .
F. A 2 Ui ITErt HHaTd.

g, SETEuTe HHE AEd HUAEE @FT IR I feay wadt deere uerey e
ESESIEICH

it I

(1) W 31 0 & St 3eA
(2) HEd A, 9 MM F TS 8D
(3) wad & anfYr % S TR
(4) e 31 T T e ITEA

What safeguards have been woven into our Constitution in order to enable the
Comptroller and Auditor General of India to function impartially and independently
of any control of the Executive ?

a. He can be removed from office by Impeachment procedure.
b.  He shall be disqualified from all Government offices after retirement.
c.  He is made directly answerable to the President.

d. He is given a team of qualified and impartial Chartered Accountants to assist
in his task of Auditing.

Answer options :

(1) Only a and b are correct
(2) Only a, b and ¢ are correct
(3) Only b and ¢ are correct

(4) Only a and d are correct

Feedl HINTST ST / SPACE FOR ROUGH WORK
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(5% #1%)
. =N [EEH
9. gHd e

8. i foomgg et
gaiEt I

H E) C2 S
(1) 1II IT1 v I
2y I IT ITI v
(3) 1III v I IT
4) IV I II II1
Match the following :

(Sheriff of Mumbat)
a. Dr. Indu Shahani
b.  Sunil Gavaskar
¢.  Kiran Shantaram
d. Dr. Vijaypat Singhania

Answer options :

(1)
(2)

(3)

(4)

a b C d
II II1 v I

I IT III v

IT1 Iv I II

w1 I I

I.

II.

111

Iv.

15

II.

ITIL.

P15

(FriFIEs)
2006
2008
1995

2002

{Tenure)

2006
2008
1995

2002
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34. ‘Hfuard won folg-fraior Geen anfor aaTee e SiHeESaUt Tl Hed ST B
| hell Wiigsr a1l frwrE v aftehiay/emarm el am 2
(1) TIYW TEHehd g9 Afdd
(2) TEAYES YIHEIT FUR AT
(3) U YeNEhIT T SR
(4) T TMERE YT 3T srdfegawen it
Which committee/commission has recommended that ‘the distinction between the
Secretariat as a policy-making body and the directorate as a policy-implementing
body should be abolished’ ?
(1) Rajasthan Administrative Reforms Committee
(2) Madhya Pradesh Administrative Reforms Commission
(3) Punjab Administrative Reforms Commission
(4) Kerala Administrative Reorganisation and Economy Committee
35. UEia faumEn s 0

¥, Ao Gindmed dehaidid 99 1y i e e gt g Stafafies arEd.

4. o affdien sige i F 9o’ guevam 29, & At aeste i
Y AT H1H F.

Tt I
(1) %o 3 SO A8 (2) Wed € UL AR
(3) 37 3nfor ¥ S U HAT_d (4) 37 anfor 9 gt 9% TEd

Study the following statements :

a. The Estimates Committee represents the parties and groups in the Lok Sabha
more or less in proportion to their representation in the House.

b.  The Public Accounts Committee, a watchdog of the public finances, is described

as the ‘twin sister’ of the Estimates Committee.
Answer options :
(1} Only ais correct {2) Only b is correct

(3) Both a and b are correct (4> Both a and b are incorrect

Feeql SHTEIS! SN / SPACE FOR ROUGH WORK
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Y GHESAT IV HREGR HERSE U9 AT e ?
(1) H&E g3= FEa, 1960
(2) ToRIG YT FEET, 1960
(3) WENI gA=AT %RET, 1960
(4) TH T
Which Act of the Indian Parliament led to the creation of the State of Maharashira ?
(1) The Bombay Reorganisation Act, 1960
(2) The Gujarat Reorganisation Act, 1960

(3) The Maharashtra Reorganisation Act, 1960
{4) None of the above

37.

HTAA AT ?

. faum ofwe=h eag = 40 van w1 F@mE.
gty I

(1) =1 anfr 9 S TP 3 AP B 2) HERT 3 AN B
(3) W o AL AR (4) et FEE g am A A

What is the provision regarding the membership of Legislative Council, the second
chamber, if States choose to have it ?

a. The maximum member strength of Legislative Council should be one-third of
the strength of Legislative Assembly.

b.  Legislative Council should not have less than 40 members.

Answer options :
(1) Both a and b apply together (2) Only ais applied
(3) Only b is applied (4) None of the above provisions apply

38.

wErTSgTEAT faum yites gewr we R R 2
(1) 76 (2 178 3) 74 @ 79

What is the strength of the Legislative Council of the State of Maharashtra ?
L 76 (2) 78 3) 74 @ 79

Freeq] HHTITE! SR / SPACE FOR ROUGH WORK P.T.O.
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39. SoEd U@ Hgal Afdien MeRd 91 ongw % WERIE e SHorsent faeh et
afirdf= W@ v g ? |
(1) IvEdE =g (2) TRAUE FATER
(3) W.%. @Em | (4) TEAUH AT
Name the head of the Committee appointed to make a report about the
implementation of the recommendations of the Balwant Rai Mehta Committee in
Maharashtra ?
(1) Yashwantrao Chavan (2) Marotrao Kannamwar
{(3) P.K. Sawant (4) Vasantrao Naik
40. HERGE U fam = wema it anet 2
(1) 1989 (2) 1992 (3) 1993 (4) 1994
When was the State Finance Commission established in Maharashtra ?
(1) 1989 (2) 1992 (3) 1993 (4) 1994
41. TEWS U Ol g6 A Y@ BIvarEdt geierdsh! vl U 2778 ?
(1) = = rEEErE Hga = (2) I A =R
(3) oo =maeE =mnd (4) fToer =mmeE= figa =mmd
Who is qualified to be the Chief of the Maharashtra State Human Rights
Commission ? ‘
(1) Retired Judge of High Court (2} Judge of High Court
(3) Judge of District Court (4) Retired Judge of District Court
42. im gfeareara Seiie At Iaten sHH At &

31, 9 Oiaa 9. fafes wfE

. Wg ®wta g. 3 gfE

gt 3 ;

(1) £+-F-8T-H (2) §I—_F_T—-HA

(3) ®F-4-31-3 (4) F_T-F -
Arrange the following officials of the Central Secretariat in descending order :
a. Under Secretary b.  Additional Secretary
¢. Joint Secretary d. Deputy Secretary
Answer options :

(1) ¢c-b-d-a (2} b-c-d-a

(3) c-b-a-d (4) b-d-c—-a

FFoEqT TS SR / SPACE FOR ROUGH WORK
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43. foum o wee wefia faun femua o

faum ity & SEHR @9TE IR,

N AT Haw g e aut g g,

faam wiwediet g gee yeraen fase Siam.

TRTTSTE a1 yuEeh feumder fasrg w8 gee fage .

aﬂaﬂﬁaﬁvﬁﬁuﬁaﬂmw@ﬂ‘?
(1) % AT S (2) had 3, T M S

(3) e A anfur w (4) % 3,9 M E

AR SR

Consider the following statements about the Legislative Council :
a. The Legislative Council is a permanent chamber.

b.  One-third of its members retire every second year.

c.  All members of the Legislative Council are directly elected.

d. Six members are elected from amongst teachers from six administrative
divisions of Maharashtra.

Which of the statements given above are correct ?
(1) Onlyaandd (2) Onlya,candd
(3) Onlyaandb (4) Onlya,bandd

44, T [ A IETE G fyam faema en
3. 1953 wed T fgeht ot e
q. W AR FAAH AR B e 8.
®.  Uod i arfafm 30 W, 1954 TN A e
B T e fufem 1 ofte, 1956 TS swea st

FhAEr St faam Tl oTRa ?
(1) S A" (2) FFFBAMVE (3) S AT Q) SRS

Consider the following statements about the States Reorganisation Commission :
a. The Commission was appointed in 1953.

b. The Commission was headed by Justice Fazal Ali.

c.  The States Reorganisation Act was enacted on 30t March, 1954.

d. The States Reorganisation Act came into effect on 15t April, 1956,

Which of the statements given above are correct ?

(1) Onlyaandb (2) Onlycandd (3) Onlyaandd (4) Onlybandd

FeedT HHEE! WRT / SPACE FOR ROUGH WORK. P.T.O.
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45.

S gl K M T L P

20 A

U= A= STfeprrean gt @refid foae fa=m =
4. TS9O fagras=a S8 waiih $% wehan.
%, T FaevEhia® faumaien afeen siesmmen gaifa s
gl o) foam/faum ste e ?
(1) e ¥ anfor 5 (2) e A I H
(3) w9 I & (4) wFAH
Consider the following statements with respect to the powers of the Governor of a
State :
a. The Governor can summon, prorogue and dissolve the State Assembly.
The Governor can adjourn the meeting of the State Assembly.

c. The Governor addresses the first session of the Legislative Assembly after
elections.

Which of the statements given above is/are correct ?
(1) Onlyaandb ' (2) Onlyaandc
(3) Onlybandc (4) Onlyb

46.

ﬂﬂ?ﬁﬁéﬁﬂﬂmwzmwaﬁmﬁﬁaﬁmwgﬁaﬁmmﬁﬁ
rafear 3d ?

7. susll a =&

F. HeH Tar=l AU Wl T  aia
it 39 : .

(1) aa A 30l o (2) ad & 3T H
(3) Wad A I F (4) HFd

Article 210 of the Indian Constitution lays down that the business in the Legislature
of a State shall be transacted in

a. English b.  Hindi

c. Official language of the State d. All of the above
Answer options:

(1) Onlyaandb (2) Onlybandc
(3) Onlyaandec (4) Onlyd

greeq] HIFTETS! STAT / SPACE FOR ROUGH WORK



A
47, e w4
(Fa7EIT)
A, HRRSH IEE
¥, mamgd
%, Teig me
s R @
qgiEt SW
A q &
1 Iv I I
2 1I II1 I
3) I v II1
(4) III 11 v
Match the following :
(Prime Minister)
a. Morarji Desai
b. Manmohan Singh
c. Rajiv Gandhi
d. H.D. Deve Gowda

Answer options :

(1)
(2)
(3)
(4)

a b c
v I II
II III I

I v ITI

111 II IV

III

I

III

I1

IL

I1L.

21

P15

(FH755)
I 13, 19961 21 U=, 1997
II. 227, 200449 26%, 2014
III. 247, 1977 28 =, 1979
IV. 31 siiwisi, 1984 d 2 fedarw, 1989

(Term of Office)

15t June, 1996 to 215 April, 1997

2204 May, 2004 to 26t May, 2014

24th March, 1977 to 28t July, 1979

315t October, 1984 to 274 December, 1989

48. VG GUHTET GfET e A w@eftedsh S sEat ¢

(L
(2}
(3)
(4)

VIR F=mEis
HETATATE
nEfah

Who among the following is the first Law Officer of the Government of India ?

(1)
(2)
(3)
(4)

Chief Justice of India
Central Cabinet Secretary

Attorney General
Advocate General

FECqT HATATS! SR / SPACE FOR ROUGH WORK
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49.

22 A

wreftel T foem w0

A, IfErEitE FaE i S mur @ reefiger 1950 Ted sef.
9. W gikdia @b 30 HTEE AieEvehgd Hagd fad .

%, mf @ aidn aew revE fagd 39 woha T

T 8wl T wiamar i wesmat FoamEd! g e gaee.

et 9 foaum faer .

(1) %% A, 9 anfor & (2) A, 9, F g
(3) ad @ i1 g (4) Wad o, & AN T
Consider the following statements :

a. The Estimates Committee was constituted in 1950 on the recommendation of
the Finance Minister John Matthai.

b.  All the 30 members of this committee are from the Lok Sabha.

c. A minister cannot be elected as a member of this committee.

d. The committee suggests alternative policies in order to bring about efficiency
and economy in administration.

Choose the correct statements given above :

(1) Onlya bandc (2) a,b,candd

(3) Onlycandd (4) Omnlyb,candd

50'

ey fafiveesren afiruiaea Eeitets! s faum/faas sts gty 2

A, ArherEl GEdme 25 9eE 3tgard, faumaa 20 snfor faum afeweqq 5.

q. oiEeEidTel 29 geea swar, faumasga 20 iy faum IRweqa 9.

®.  HEAHE IUhE AWdHESY 25 TeE TEad, faumadgd 20 e faum efereqq 5.
8. ud™a U9 g 25 ee o, faumeig 20 anfo faam 9 5.

gt I

(1) %ad § (2) wFa (3) Had A AT (4) ad I T %

Which of the following statements about Legislative Committees in Maharashtra

is/are not correct ?

a. Public Account Committee has 25 members, 20 from Legislative Assembly and
5 from Legislative Council.

b. Estimates Comimnittee has 29 members, 20 from Legislative Assembly and
9 from Legislative Council.

c. Committee on Public Undertaking has 25 members, 20 from Legislative
Assembly and 5 from Legislative Council.

d. Panchayat Raj Committee has 25 members, 20 from Legislative Assembly and
5 from Legislative Council.

Answer options :
(1) Onlyd (2) Onlyb {3) Onlyaandd (4) Onlyaandc

T HHTS! SR / SPACE FOR ROUGH WORK
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51. HRATEAT HETAIEE] S19d Wiefiaideh] v {3 st 318 ?

(1)
(2)
(3)

(4)

A U AT HRAFIBEG! IGET Tgdrd.
ffmeaEl TSl AHwld O wETER e,
oe S A I qHee e,
Gge oo fuevm wd i @ 3 wrg w fredr.

Which one of the following statements regarding the Attorney General of India is

correct ?

(1)
(2)
(3)

(4)

He holds office for a term of five years.
He holds office during the pleasure of the Council of Ministers.
He receives such remuneration as the Parliament may determine.

He enjoys all the privileges and immunities that are available to a Member of

Parliament.

52. gEwATE! Rkl areehed Seft 9 2

(1
(2)
(3)

{4)

ST FETTeAT STET TR

s oA s faumee we=
TS99t %A e
T8 AsSIehg

The Chief Minister is appointed by

(1)
(2)
(3)

(4)

The President of concerned political party
Elected members in the Assembly
The Governor

The high command of the party
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53.

24 A

TEAThl IV IR geren Faguhe afires 7787 7

(1) FHEHET= T e Heed Fasurhard 3% wid SHam.

(2) IWrgudl ST SHGEN TG HEed AT e,

(3) 1= AAEH .

(4) IUEAN YING TR, Usd THR fehat Torfies o1 g yeiay e @@,

Which of the following is not a characteristic of the Vice Presidential election in

India ?

(1) Members of both Houses of the Parliament assemble in a joint meeting for the
election. ’

(2) The candidate for the post of Vice President should be a member of either
House of the Parliament.

(3) Secret ballot system.

(4) A person holding an office of profit under the Government of India, any State
Government or any local or other authority is not eligible for office.

54.

g T FATGHEl forerepior Tofl s19aT AHSE AIER SEd, de YeaEa et Hi
ar folg 9 ara ?

(1) faumas (2) faum qfwe
(3) TEEt (4) TSIUA

When States ratify an Amendment bill to the Constitution, which of the following
bodies of the State machinery makes the decision ?

(1) Legislative Assembly (2) Legislative Council
{3) Chief Minister (4) Governor

55.

GreAAdsh! Hivd Feaien Jesor 778t 7

(1) “hoW 145 — ~gETaR 354

(2) FeH 143 — Hare A HoAHEd H0ATET Teadial AfhR
(3) oW 141 — Har=l AEEET N TR gd FReEHET an e
(4) w139 — fe witchy 2 gdat= =rReEr iR

Which of the following is not matched correctly ?

(1) Article 145 — Salary of Judges

(2) Article l143 — Power of the President to consult with the Supreme Court

(8) Article 141 — Orders of the Supreme Court is applicable to all courts of India

(4) Article 139 — Power of Supreme Court to issue writs

FEedT HHIS! AN / SPACE FOR ROUGH WORK
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56. 39 faurfiy sifteramemed @il FvR faus geid e ?
(1) o J9vEs anfor fEme @ IsammEEg E.
(2) @@ =EEEE (Magisterial) difusm =fifts 7egm snfor FrREh afier wE@m
HATT AT TR
(3) QA WM (territorial) IRFH 2T wgseia w1 FOMR fUHAT A,
(4) @ wiad 2 gemacderad e sefuRr nfr Rem wefi| srfeeed r Seumr gan
TRV 1 HTE.
Which one of the following statements is false about Sub-Divisional Officer ?
(1) Heis appointed and controlled by the State Government.
(2) He is vested with revenue and executive powers except magisterial powers.
(3) Heiis a territorial officer and a multipurpose functionary.
(4) He acts as a link between the District Magistrate and the Station Police Officer
in matters pertaining to law and order.
57. 74 =1 UAGEANE WIRfiee] RN S19 FHIR 9187 ?
3., qmuTtere fmfo '
. U FaEevE AT e
%. UM wEEA
g, ST SREW
gt IW .
(1) e 31 anfor = (2) wa & i1 g
3) HHH (4) B g
Which of the following matters is/are mo# included in the 74 Constitutional
Amendment ?
a.  Constitution of Municipalities
b.  Appointment of State Election Commission
c. Gram Panchayat
d. Reservation of seats
Answer options :
(1) Onlyaandb (2) Onlycandd
(3) Onlyc (4) Onlyd
58. WWd €3 faumTea wom 81 T2 g B9 ® Frdes ugl wideAl A UH
H B,
(1) 150D (2) 153A (3) 154B (4) 156C
Conviction under Section of the Indian Penal Code is one of the reasons
for disqualification for being a counciller.
(1) 150D (2) 153 A (3) 154 B 4) 156C
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59. YA TSAHH=A1 He 243 (G) F=a @retierish! Sive faum/faum steg s 2
H,  SIFT ARE
9. G 9B
F.  vaARre fEeus
g U= IfieRR, TifteRR o1 SiarEer
T I .
(1) ®Fa AU (2) FH S (3) ed @ (4) Wad A
Which of the following about Article 243 (G) in the Constitution of India is/are
correct ?
a. Reservation of seats
b.  Disqualification for membership
c. Elections to the Panchayat
d. Powers, authority and responsibilities of the Panchayat
Answer options :
(1) Onlyaandb (2) Onlyd (3) Onlyec {4) Onlya
60. THEFTRUICR=AT Sledid Gl fauT fa=mre = (Aenmersar davia) .

Hffauet werqd fesrarn.

9. USESIEA YA T afdte gwdi srgafedtasl T T #E ek,

®.  AYHNE € ¥ WS udl FHA dlQedl TEd e @edd HEriieeT uiee
(3T A1) RSPl TG kel AE FBUE S woarEd! e v% wehd.

iRl FvR faur/faum g amg/ema 2
(1) %&a A (2) Whad o MU &
(3) e wd (4) ad o 0T &%

Consider the following statements about Municipal Corporation (with reference to

Maharashtra) :

a. The Municipal Commissioner is appointed by the State Government and he
receives his salaries and allowances from the Municipal Fund.

b. The State Government may, with the assent of the Standing Committee, grant
leave of absence to the Commissioner.

¢.  During the absence on leave or other temporary vacancy in the office of the
Commissioner the Corporation Council, (General body/Aam Sabha) may
appoint a person to act as the Commissioner.

Which of the statements given above is/are true ?

(1) Onlya (2) Onlyaandhb

(3) All of the above (4) Onlybandc

Foeg] BHRITSE ST / SPACE FOR ROUGH WORK
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61. HﬁiIﬁﬂﬁ?ﬂﬁﬁdﬁifﬁtﬂﬂﬁi@ﬂ%ﬂtiﬁﬂﬁﬂ?{qﬂtﬁﬂﬂ&ﬂﬂ!ﬁnzrt@qs'ﬁhrga'ﬁassf%amh A
3y JoATETE 3 AR FEETE! 7T FIVRIT ?
3. M e HEeaeETsa S e gael ifEs.
. A THHH T HEE A qIie.
F. N G TRINGTA GR A6 39 Wi,
T. O RATeN TsaHed R et s, 3 @n 9t F wiE.

TRt v faam/faum ster amd/ema ?
(1) wFa F Afr (2) wEd & AT E -
(3) FFF ‘ (4) o

A college student desires to get elected to the Municipal Council of his city. The
validity of his nomination would depend on the important condition, among others,
that :

a. He obtains permission from the principal of his college.

b. Heis a member of a political party.

c.  His name is registered in the Electoral roll of the Municipal Council,
d. Hefiles a declaration owing allegiance to the Constitution of India.
Which of the statements given above is/are correct ?

(1) Onlyaandb & (2) Onlycandd

(3) Onlyc (4) Onlyb

62. WA He2ie e HHl g w2
(1) 1953
(2) 1924
(3) 1923
(4) 1920

When was the Cantonment Act passed in India ?
(1) 1953
(2) 1924
(3) 1923
(4) 1920

HEAT FHRITS! AR / SPACE FOR ROUGH WORK P.T.O.
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63.  Grellcishl HIvd fau™ @ e Heasr=al Afrgar=an gl St oA ?

H. HeH Hed WIT AT T SAerErl o FrmvmErefl #m #dm.

9. DS THE en el 7 weh et vefig st sl

®.  heh HewId dlbAiHNEn e st wfig wewEr dEm st s,

S.  hesh HSw ol & V=1 T Teheed=al AR Jrffer sl SITd.

RERCICREEC S

(1) Yhaa 37, ¥ 3N % (2) FadE, F A S

(3) WA A, & MU g (4) <fagd

1gﬂ.’hic(}ll ??f the following statements are true regarding the features of Cantonment

oards ?

a. Cantonment Board functions under the direct control of the Ministry of
Defence.

b. The Station Commander of the Cantonment is the ex-officio President of the
Board.

c. Cantonment Boards consists of a large number of ex-officio members with a few
elected members.

d. Cantonment Boards are classified according to the size of the civilian
population.

Select the correct option :

(1) Onlyabandc _ (2) - Onlyb,candd

(3) Onlya,candd (4) All of the above

64. Toee uitwe verfier=n favg favam suaTen TedEa Gl ®ivd faum/foum g@&e
TR ? '

3. .w%wmmm JEAES Sefaden g seawnd R few Titede gen srierd
HHam.
§.  AlavaarEn sue fiesr Tiee=a Ty gewtea fham 1/3 S 98 gRae hell Tifed.
%. AlevaTE U Ui SIvaTshial T HETeAl 2/3 HEneaE! WS 3.
B. u%wwmﬁmwwaﬁwwmsmmw
qria .

ot I :

(1) ad 31, § 3T & (2) %9d§

(3) waa A (4) e A T

Which of the following statements is/are not correct regarding No Confidence

Motion against the office bearers in Zilla Parishad ?

a. The Chief Executive Officer of Zilla Parishad can only preside over the meeting
called for the passing of the No Confidence Motion.

b. The Motion of No Confidence should be moved under the signature of at least
1/3™ of the total number of members of Zilla Parishad.

¢. No Confidence Motion should be passed by at least 2/3™ majority of the total
number of members.

d. No Confidence Motion against the office bearers of women is required to be
passed with 3/4t® majority of the total number of members of the Zilla Parishad
as a special case.

Answer options : .

(1) Onlya bandc (2) Onlyd

(3) Onlya {(4) Onlyaandd

FoeqT HHNTS! S / SPACE FOR ROUGH WORK
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65. Trear wRucea 1w wewnddl oS Tiq naeHT g9 StHCedT fRdl BERie SAd TS
TN &7 HEHH Al Haqd wd setad ?

(1) %W‘é@wa@q—rﬁﬁ (2) %m@a@wa@mﬁ
(3) WYl Hew HEeA N (4) iwwa@?ﬁ%{

What is the number of Zilla Parishad members having right of vote in special
meeting required for permission to the State Government to recall Chief Executive
Officer from his service ?

.. .1
(1> By the permission of gth members (2) By the permission of grd members

{3) By the permission of all members (4) By the permission of 3 rd members

66. T Wit FicaTEd I T FEE ®
. el s & veTE A afE o
g, vefamm Attt 7 Teaaedaia faen sl weae s,
F.  Tefam Attt 81 TeTaeie TSR SUHATE TS FHAT.
5. TefadE AUl & demEd @t i s s,

W‘i’d"f?ﬁﬁt:
(1) ed o aTfur (2) o & VT E
(3) ‘had 1, o I g ‘ (4) i |

Find out the correct alternative about the Block Development Officer :
a.  The Block Development Officer is the Secretary of the Panchayat Samiti.

b.  The Block Development Officer is the captain of a team ot extension officers at
the block level.

c.  The .Block Development Officer is the co-ordinator of political activities at the
block level.

d.  The Block Development Officer is the head of the office of Panchayat Samiti.
Answer options : |

(1) Onlyaandb (2) Onlycandd

{(3) Onlya,bandd {4)  All of the above

Foed] HTHTHIST WM / SPACE FOR ROUGH WORK P.T.O.
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67.

30 A

TR T |t sred @iefiadsh wive faum g@e om 7

(1) J=rrd aftdt aewer=an oo se=a SA-gdEm aguan faty ava sifaamrn ota w@aa
SHedrd AT fohall I9-TwTaet &1, qenferdt ayadt fRan St TevE Tevm i

(2) T AFTEEET UE BBV AT qL SUE helBAl eI di Afg=rreA 2 gee
T a0 AfqTErETen 3Ud Y9 afidige st ¥ e,

(3) v=EE afdem wuad fRar Sumwmd onelt Fded Ur widld FEaiT whetedr
NEAvEhITEe T WA T SATUHR TEE6 g HF w1

(4) Ua™Ha afd aewTeaT HREEE 5 aulET Al

Which one of the following statements about Panchayat Samiti in Maharashtra is

incorrect

(1) A Chairman or Deputy Chairman of Panchayat Samiti shall cease to be the
Chairman or the Deputy Chairman as the case may be, if a Motion of No
Confidence is passed at a special meeting by a majority of two-thirds of the
total number of members.

(2) If the Motion of No Confidence is rejected no fresh Motion of No Confidence
shall be brought before the Panchayat Samiti within a period of three months
from rejection of such motion.

(3) A Chairman or Deputy Chairman of Panchayat Samiti may be removed from
office by the State Government for misconduct in the discharge of his duty.

(4) The tenure of Panchayat Samiti members is 5 years.

wrefter faum faama = (werrsgrdie ameETd= wEvi)

q.  JoEdTen RIUEE S JEl SR fefa sruan sga% wan 8.

%, 9EEde feeem AW wved smewmfaeg Sawen 15 fieEm om ge wEwl
sfr=ITHe die AT A5,

S, UHYSEHETAT A9 Aad § TERd givd! BeRE fod 9.

Tl Ford faam/faum st sm/amwa ?
(1) a3 _ (2) had I AT &
(3) & AT (4) W 3, T AT

Consider the following statements (with reference to Gram Panchayats in

Maharashtra) :

a. The servants of Gram Panchayat are appointed by Panchayat by passing the
resolution.

b. A Panchayat may by written order suspend or dismiss any servant.

¢. An appeal shall lie against any such order passed by the Panchayat to the
Chief Executive Officer within 15 days.

d. The salaries of the Gram Panchayat servants are paid from the Panchayat

Samiti fund.
Which of the statements given above is/are correct ?
(1) -Onlya (2) Onlyaandb
(3) Onlycandd (4) Onlya,bandd

LT BTHIHIE! I / SPACE FOR ROUGH WORK
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69. UHEN=AT HeWidie @ieficidshl wivd faur/faun g o m ?

A, THENT T9H HOAHEFET 3¢9 UTHIV FHdell U J0AETd! SIEdis Iqeisd o <01 170
oo wEwaTea fawens=h s=t .

. mﬁaﬁaﬁmﬁawﬁwwmm
%, JwHEHg AEiv SHde A9 faaw, 7a offir awrl s woarh @ faeft .
Iy qatg feer.

(1) %5 3 (@2 W
(3) ST & (4) IOH AT

Which of the following statements is/are false about Gram Sabha ?

a. The purpose behind organising a Gram Sabha is to provide a platfrom for the
villagers to come together and discuss matters of local importance.

b.  Gram Sevak is legally bound to organize Gram Sabha meeting.

c. Gram Sabha provides the opportunity to villagers to express their views,
opinions and grievances.

Select the correct option.
(1) Onlya (2) Onlyb
(3) Onlybandc (4) None of the above

70,  USHHIdTER ATiGRis TRETdier HIVCAT IR Jeiw MATETe! el €€ dea ?

3. " 243 R d,  ®HEH 40 JOR

F. S 42 TR 3. wHEH 124 TR
Feeht Hv faum/faum sst omR/aTa 2

(1) %Fd &% Hfr g (2) %Fd ¥, 9 anfor %
(3) waFd A i (4) 4§

According to which Directive Principle of State Policy in the Constitution are the
Gram Panchayat for each village established ?

a.  Asper Article 243 b.  As per Article 40
c.  As per Article 42 d.  As per Article 124
Which of the statements given above is/are correct ?

(1) Onlycandd (2) Onlya,bandc
(3) Onlyaandd (4} Onlyb
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71. WS fauEe et U
e I andta wfaurdia sem 149 ned orsft qige. R #) gats e e R
W AW 35 Al
fagr I : =amareE feeien smew Shemfia s2w anesen gyl ewma e BN,
qogiEt IW
(1) fuer I st anfo 11 =% a8
(2)  frurr 11 st omfor | o o
(3) g Fam sl s1rRd
(4) T foue 9% e
Consider the following statements :
Statement I:  Article 149 of the Indian Constitution provides that the Supreme
Court in exercise of its jurisdiction, may pass such decrees or order
as is necessary for doing complete justice in the matter pending
before it.
Statement II :  The decree made by the court shall be enforceable throughout the
country except Union Territories.
Answer options :
(1) Statement I is correct and II is incorrect
(2) Statement II is correct and I is incorrect
(3) Both the statements are correct
(4) Both the statements are incorrect
72. @i faume sEee w0

el wdtaes faq wfae (SHfga aifae) wom e, Fagpaa @ s fhar snfds
urvde) g wfage feadla s Siei=an gengg oo 3ot e Afessm=
SATAFUNAIS! AR,

e 11 : sl Tt Saq g gapr=an i gy Wt sifver famomard! et o1
Ihd.

TgiE IW

(1) fogm TsUeR oY 11 9% 378

(2) o 11 stet onfon 1 9 o2

(3) 2 fau s amda

(4) A o 5% Fa

Consider the following statements :

Statement I:  Public Interest Litigation is meant for enforcement of Fundamental
Rights of the people who are poor, weak and in socially and
economically disadvantageous position.

Statement II :  Such litigation can be initiated only for redressal of enforcement of

: Public Rights and power towards the nation.

Answer options :

(1) Statement I is correct and II is incorrect

(2) Statement II is correct and I is incorrect

(3) Both the statements are correct

(4) Both the statements are incorrect
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73. Wl Hd e/ @t arm/emR 2

AN, gdT AT SFRETE S i ww @ fadfivesrea warsn s A,

4. Hatw Ao A T AR e TIHFINES PR HadE e warE
AT 7T ‘

®. HaW 122 garE EeEre g amiueen ARarE S e a9
FIH AT .

T U4 AT e 145 S safhvara it Svard e o,

Tt I

(1) H9d A 0T § WL 3MRA

2) EFF R A

(3) FH A, § HIMO T WL 3T

(4) ®F S W e

Which of the following statements is/are true ?

a.

d.

The salaries and allowances of the Judges of the Supreme Court are not subject

to vote of Legislature.

The Supreme Court and High Court have power to punish any person for its

contempt.

Article 122 prohibits a retired Judge of the Supreme Court to appeal and plead

as an Advocate in any court in India.

Power of the Supreme Court to make rules are given under Article 145.

Answer options :

(1)
(2
(3)
(4)

Only a and b are true
Only c is true
Only a, b and d are true

Only d is true
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74.

34 A

GrEATATH T TR AR 90 ATHR &7 a9, 11 heam ffdds a3 s
U A . W1, e 38 F0E ol i, qifehdl IR seeier A |
TR HATITHA TR e ATEY.

(1) ge = fa feeeht wemem

(2) wfaa Sted fa gfmm a7 s

(3) Ifeqd dOR & @ T

(4) ShcTdh! T T

In which of the following cases did the court exercise its epistolary jurisdiction, and a
letter written by a prisoner was treated as a petition. Court stated that the
technicalities cannot stop the court from protecting the civil liberties of the
individuals.

(1) Sunil Batra vs Delhi Administration
(2) Salil Chaudhari vs Union of India
(3) Abdul Sattar vs State of Kerala

(4) None of the above

75.

wreite faum fa=me = -

I : ﬁWWQISWmﬁWHW%mW
e II: Hat= ATl STaUETE] ST IE HUaHEl 39 e AfhE AEl.
T I

(1) foum 1 st sufir 11 9% o

(2)  foum 11 st o0f1 [ 9% a1

(3) 2 fqum s amed

(4) A Toumr < med

Consider the following statements :

Statement I : Article 215 of the Constitution of India declares that every High
Court shall be a Court of Record.

Statement II :  The High Court is not empowered to initiate contempt proceedings
for the contempt of the Supreme Court.

Answer options :

(1) Statement I is correct and II is incorrect

(2) Statement II is correct and I is incorrect

{(3) Both the statements are correct

{4) Both the statements are incorrect
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76. VWRAW A HESEtEHEAT _ U e e,

(1) 159, 1951

(2) 154, 1950

(3) 1UfE, 1949

(4) 1=, 1950

Plénning Comrﬁission in India was established on

(1) 15% March, 1951

(2) 15 March, 1950

(3) 15t April, 1949

(4) 1% April, 1950

77. TR R geardm fiftae oo 9r duwein sfaeme aefatst s sfas
e B 7757 ? ‘

(1) goi TSR et

(2) THAT 9 ARNYTST AT FHSEAT
(3) I9F 3 HUTe foyman gg

(4) wigen aeHww

Which of the following is not from among initial four long-term objectives that were

set out by the Planning Commission ?

(1) Achievement of full employment

(2) Socialistic society based on equality and justice
(3) Removal of inequality in income and wealth

(4) Women empowerment
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78. @ AT TOAN WIEAiEih B TS SRR IS waitiw gl gt a7
(1) feeeht (2) e
(3) afearg (4) WERTS
Which of‘ the following States shows the highest growth rate in domestic product
during the Tenth Plan ?
(1) Delhi (2) Goa
(3) Tamil Nadu (4) Maharashtra
79.  YRAWd TN SH Sl S e Ygavit i Svreh et faan samrd
ST JETH TR 1989 HEY A AAFA@TA T qoql T2 T Hel.
(1) 1. SeEr
(2) 1. FEHE
(3) I @t
(4) w. I.A. awsEEn
The Planning Commission constituted an ‘Expert group’ in September 1989 to
consider methodological and computational aspects of estimation of the number of
poor in India under the Chairmanship of
(1) Prof. Dantwala
(2) Prof. Brahmananda
(3) Prof. Ahluwalia
{(4) Prof D.T. Lakdawala
80. WITH WM JeM & OIS i FRMEH Giefiardehl v frews welt FegdT ?

(1) U= Fute FIenaHiard FHie AEHTE g2 50

(2) U= FuTeAT FIAEHES I YR G ant

(3) T G ST TR

(4) STEYH ASHETN WG

Which of the following measures was nof recommended by Wanchoo Working Group
for starting industries in backward areas ?

(1) Exemption from corporate income tax for a period of five years

(2) Exemption from excise duties for a period of five years

(3) Provision of water supply subsidy

(4) Provision of transport subsidy
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81. HAAWI qaEE Var=Al Il T &I I TFUS.

(1) wEUH Ha=1

(2) fomm sEr=h g

(3) wifedl-aawe g =G

(4) F e ged

The main reason of fast growth of business services in India is
(1) Multinational Companies

(2) Growth in Insurance Sector

(3) Growth of Information Technology Sector

(4) Growth in Agriculture Sector

82. 2001 - 02 A1 T FHUTIAR HIWIeAT Tsulle JIGATS FHTT Faiferss gt 2
(1 g
(2) afem
3) faen
(4) TS WeH

Accordiﬁg to the Economic Survey of 2001 — 02, which State had more poverty ?
(1) Tripura

(2) Odisha

(3) Bihar

(4) Madhya Pradesh
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83. VWA AT gl IR Y & T
(1) arHtor ST Hiee YA ATl
(2) EH "W HiS qHTOeR el
(3) T S Hiew YANTR el
(4) 0 HHFHT AiEATHE TS THOTE Sgesdl

The problem of disguised unemployment in Indian Economy is mainly observed in

(1) rural areas
{(2) urban areas
(3) Industrial sector

(4) urban working women

84. @ieliEth! vl ges Tefae favmder sq@ e o 2
(1) Temada
(2)  HiY IeqEA
(3) Teae Usgiaid e
(4) o o s
Which of the following is a principal indicator of regional disparity ?
(1) Value addition
(2) Agricultural production
(3) Net State Domestic Product
(4) Sexratio

85. 24 TR, 1993 Tsh shivreT TeATgEeAE Fell SvAma 3ed ?

(1) 7131 go&dl (2) 7241 gEEdl

(3) 7341 gEEd (4) 744 gEEA!

Which Constitutional Amendment was approved on 24th April, 1993 ?
(1)  71%" Amendment 2) 72" Amendment

3) 73" Amendment (4) 74" Amendment
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86. A, S YN ¥R Y HIST AR, q AT €W IuET AR, Fogl W= 9T HEr=A A 25 T
Bl degl a1 Tordean a9 gdd o g@ash fag 0.
(1) 85
(2) 65
3) 45
(4) 25
Mantra, who is four times older than Seba, is twenty years old now. Select his age
when he will be 2-5 times older than Seba.
(1) 85
(2) 65
(3) 45
4y 25

87. ﬁ@wwmmgnﬁmﬁﬁ@a‘rm 6 fafse e Mg, ek
TIERITEET T AR JgHi=T semad faer,

(1) 3sofafe
2y 21faf
(3) 15fafR
(4) 12ffR

Walking at gth of his usual speed, a boy reaches his school 6 minutes late. Select

his usual time taken to reach the school.
(1) 30 minutes
(2) 21 minutes
(3) 15 minutes

(4) 12 minutes
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88. Ye Yyl faum wmfae smedl 9w ghwarg ot g, s g9 3 Y faum § 1 o 2
=41 YR, FITIen oy 318 o= g .
oT
. UHE 991 BOq ATE. FE A g9ad o 99 R4, HIE 99 98 e,
9.  Td Fieg FISB ATRd. HId Hleg AT ATEN. FIE TIh hles TEI.
F. A YUY YU §H WREEE. 99 ST YHehlae! . A ShIEMAul EehEe S o A
RLGIES
3. WIERS ARG &d EE B 3&d. &€l B S 31E4.
ot I ;
(1) wFa A AT (2) ®Ha A (3) WHI A MUIS (4) ®ad S
Given below are four arguments consisting of sets of three sentences each. Select the
set in which the 3™ statement is the logical conclusion based on 15t two statements.
Sets :
a. No rabbits laugh. Some who laugh are tigers. Some tigers are not rabbits.
b.  All foxes are black. Some foxes do not dance. Some dancers are not black.
¢. A’s indulge in swearing. Those who swear are threatened. Some who are
threatened are not A’s.
d. AllE’s are S. All E’s are B’s. Some B’s are S.
Answer options :
(1) Onlyaandb (2) Onlya (3) Onlyaandd (4) Onlyd
89,  Withfdeh WG ‘blue’ I1 TSI Hhd HIVET 18 A FeAReHTa fecresn e fagan giaon Ffvem

i ?

fagT 134

3. U Hikh{dh NG ‘sea water is blue’ 91 Tehd ‘er pi th dy’ T 38,
¥, aftcl w4 ‘sky is clearly blue’ =1 @&a ‘dy th ha cb’ 211 2T2.

QO I| ;
(1) =1 1M & 28 ava (2) ud A g IR
(3) Wua 1 fokar ¥ Q=ft am (4) 1 aNfor ¥ 2t Qiht ArEa

Decide sufficiency of data with respect to the question : What is the code for ‘blue’ in
the code language ?

Data statements :

a. Code for ‘sea water is blue’ in the certain system is ‘er pi th dy’.

b. Code for ‘sky is clearly blue’ in the above mentioned system is ‘dy th ha c¢b’.
Answer options :

(1) Both a and b are necessary (2) a alone is sufficient

(3) Either a or b is sufficient (4) Both a and b are insufficient
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90, WA+BI A ARBIA T o, AxBaI1 3 A&l Bl araepl 3m2; A + Bar ot AR
B = adiet 3R M A - B 314 Agl BT WS oMy, @ T & P+t qerht ang @ amuia

faum ==
(1) PxQ+-R+5-T (2) PxQ+R-T+8S
"3) PxQ=+=R+T-8 4) PxQ+R+S+T

If A + B means A is the sister of B; A x B means A is the wife of B, A -+ B means A
1s the father of B and A — B means A is the brother of B, then select the statement
that means T is the daughter of P.

(1) PxQ+R+8-T 2) PxQ+R-T+8
8) PxQ+R+T-8 4) PxQ+R+S+T

91. EEHA A FHTa—gTeA AN GE e -

1 o (2) 512 3 2 (4) 8

Find the number for replacing the question mark :

SO @ 512 ® 2 @ 8
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92. UM, M, G¥, =3 00 HHA 2 9ra i3 v Ui afimies dfe wE ke area emea; sria
d o1 AEHAR SEIS SEAA E AE. HAS w@W w9 S wHl giea A, WG @
FHATA] Yl [Tl WA T8 M Fg THN T el dR[EE AR, & ATadre
IYTER @refid Fiv faam ffveam geg ame 2
(1) 4™ 8 TH=A ST JI9eT 3778 (2) =g FAATAT AT AN FT 08
(3) ¥AH HHCTAT IAT SCT 318 (4) T GiIreaT /AT AN GO 3TTR

Five friends Ram, Shyam, Suresh, Chandu and Kamala are watching cricket in a
row facing south; but not necessarily in the same order. Only Shyam is between Ram
and Kamala, Suresh is to the immediate right of Kamala and Chandu is to the
immediate left of Ram. On the basis of the above information, which of the following
statements is definitely true ?

(1) Shyam is to the left of Ram (2) Chandu is third to the left of Kamala
(3) Shyam is to the right of Kamala (4) Ram is second to the left of Suresh

93. e IRFARG T AN caweier aTeledT dehish @yund "eld Saeel Aol 9
IEES

Hd IS UM GR FAM. HFHER 8 1S AR, I HAAER 9 9RO HAw.

(1) &4 91 I 9RY FaW. A 4 € A, T 9 J& I G i AL
(2) & FEERR I 9RO HEAE. § TS T G0 B, FEH d TS AR 8.
(3) ©d UH SIS qMEard. a1 & I URoT Bl UM Ol J FIE 7.

(4) |E FS UMW GROT FAE. A F& T TR0 FIAL TG q A IS AL

Study the following argument and then select one of the given options that most
closely parallels the reasoning used in it.

All trees bear leaves. A peltophorum is a tree. Therefore, peltophorums bear leaves.

(1) All trees bear leaves. That plant is not a tree. Therefore, that plant does not
bear leaves.

(2) All peltophorums bear leaves. That tree bears leaves. Therefore, that tree is a
peltophorum.

(3) All leaves grow on trees. That plant bears leaves. Therefore, that plant is a

tree.

(4) All trees bear leaves. That plant bears leaves. Therefore, that plant is not a
tree.
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Ahes e faefa w@ A ame Wi deie orwvin |wsd. yaw e
FheFTER 0T 3 AR W @ oId) wHt woar I @ 3 enf 3 waEier €@
Tevaht Gefta Gl S9N T 3. 79 Tale oee o o e e
TN Tl oEd. A e JgHie dmb deeea rffeEer s
AR, HENEER T9 GEaUTd gl eMwa 3 mai TEa (R AR Th w T R g
SARRAr). S wErTeAl A e M GEReatd WA Sfed, el S d1
T 31 T W Tohan el ey o HIE AR I FHISTE Hean F.
qdrerieht alel Jiharer sden 3w Fshy Swm wata A faum faer
(1) mmmmmmmmwmmma
fafeas TeaATATRET WHeram.
TedA ST e dafua 3 e afEa FE7 7 3 wifedt gaa.

(3) TEAHET Wiigd! (el W ormar Al Wt s 38 st A Wwe
e fea wifEs.

(4) S AUl FaEhgy HedT AV HICTE JRFATEiER S gefid 38 aaie
g ARl Fef o,

While developing scientific understanding we are always mired in error. The most
each generation can hope for is to reduce the error bars a little, and to add to the
body of data to which error bars apply. The error bar is pervasive, visible self-
assessment of the reliability of our knowledge. This makes us always to accept
uncertainty about scientific facts. You often see error bars in public opinion polls (‘an
uncertainty of plus and minus three percent’, say). Imagine a society in which every
speech in Congressional Record, every television commercial, every sermon had an
accompanying error bar or its equivalent.

Select the following that best expresses the conclusion useful to public from the
argument above.

(1) People accept information without critical evaluation if it comes from dominant
"~ authorities like political and religious leaders.

(2) Television commercials deliver information to public without acquainting them
with related error bar.

(3) Authorities should take care to acquaint people about the error bar related to
the information being delivered by them.

(4) Public should demand for error bar related to any argument though it is
coming from any authority.
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S on=1+X 3 9 X & 98 HHa7 49 QI iR 3189, @ 907 fauams fae,

95.
A oD e : g, n# gedEm
% nd Qe T, n# guEe
gt I
(1) afreryht w4
(2) Fhaves U T
(3) & aTed wd
(4) ®&d 7 3 =%
If n=1+X where X is the product of four consecutive positive integers, then select
the true statement/s. '
a. nisodd b.  nis prime
c.  nisa perfeet square d. niseven
Answer options :
(1}  All of the above
(2)  None of the above
{3)  All except b
(4) Onlyaandec
96.  TEIFUEMAAT Sl TEuiE HEE TEETet s e 3 0 2 3. IR 20% Hell YEHT

AT 25% fasim Tl Tle frammardt T atE STEA; AT T THeIeATE eenaTd e,
(1 22 (2) 60
3y 72 4) 78

In a college. the ratio of arts graduate to science graduate is 3 : 2. If 20% arts
graduates and 25% science graduates qualify for further studies; select the

percentage of non-qualificrs.

(1) 22 : (2) 60
(3) 72 (4) 78
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97. Fup T el qRE 100 YT Ssie. S0 Iquard! 3 0 S S sty Yo ol
2 07 A A AT HETE T 150 o1 e, w forean stet e we fhdt 2
(1) 50 (2) 60
(3) 170 4) 75
In a Competitive Examination, Megha solved 100 questions. For correct answers
3 marks are allotted and for wrong answers 2 marks are deducted. If Megha scored
150 marks, then find her number of correct answers.
(1) 50 (2) 60
(3 70 : 4) 75
98. TN YEI HEAE FwawE e, T, e, R, wieh 3 @ ot w8 gl ged

EHFTHI I JRITST1 SISUTE Saedn Rd. v Fweurht freft el dae o <t qemh
T Jaeie FeA GHIER R 9 o e el I FIem e siafaga 120° W1 S
F. el d A AT G AT BT ST A AT THAHIH] 120° A B FA A0
o 9 Tt @ doeien +g1 vt guia ARd. 1 wiiRdt dewia gl fagma s
e fraer.

(1) wiet, faad, fewt

(2) e, fewdlt, o

(3) e, Fredt, foaddt

(4) fed, o=, aiet

Six chairs, blue, pink, green, yellow, white and red are placed along the sides of a
table having regular hexagonal top for a group to conduct a meeting. The side at
which blue chair is placed is parallel to the side where pink chair is placed and
makes an angle measuring 120° to the right end of the side where yellow chair is
placed. Sides where white and red chairs are placed make an angle of 120° with each
other and sides with red and green chairs are parallel to each other. Select the odd
one among the following groups with respect to the above information.

(1) White, yellow, green
(2) Red, green, pink

(3) Pink, blue, yellow
(4) Green, red, white
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99. UUH YRHAT WA THIAT THW 21 oA Ied; WA 7 O Weledr, 7 el weied
anfer Ieten 7 e sirda. I W WU AT 3 i g A s .

T = amm am faum fae

(1) YR WR QU Seiedr 9 areedr, 39 Reemn aeedn it @9 sl wiew s
firezeftar.

.(2) mmmmmﬁmmmmm@mm
.

(3) 91 wreedl diF firrd greE 9w awe IR,

(4) TEFET WH U Weledl 3 9eedn, 3 i dwrewr onfur 1 wR el st areeft
firda.

There are 21 juice bottles of identical capacity; out of which 7 bottles are full, 7 are
half-full and the remaining 7 are empty to be divided amongst 3 friends equally

without having any measuring device.
Select the correct statement with respect to the above data.

(1) Each one will get two full bottles of juice, two empty bottles and two half-full

bottles.

(2) Each one will get two bottles of each variety and everyone will have to accept a

single bottle of one variety.
(8) It is impossible to distribute bottles equally among three friends.

(4) Each one will get 3 full bottles of juice, 3 empty bottles and 1 half-filled bottle.
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&

el v Wed oAl AUl el 9 9 IRkl AreEuEETdl SAai 3geml arat A 3ggm
AT eIkl I sHiaasg fuesard 61 Jaer wd 9q0 o9 TH guia eear. v
aTRd e Igem waifea suwen g,

fa

e WA TR ... JeEl SNV UF HNTATEST IV HGl A5gl MEH Foled auNAl
TS T TG RO Bl

Aoe wrsata ow afdwe @

(1) oIl i SRS Sy el Mfid Thatd Jaert 9 e A e sufer
(2) Wmmwmmwwmg@m

(3) T SHITHES WEUW HHEAT St Foarn A 2F gEe.

(4) SNTENAS FE AR YEE 9l §vATa SgSIUen el WSl W A dge
T e Sl

Deep :

I wonder that we are using commercial flights to save time and energy and these
flights contribute carbon dioxide to the atmosphere than do the whole of some
nations in one year. We need to restrict the number of flights we use.

Nima :

I know ..... when we take one intercontinental flight we cause more pollution than if
we would travel by car for one year.

Nima’s response to Deep’s comment serves to :

(1) question whether he really understands the severity of the problem of carbon
dioxide pollution.

(2) add more weight to her contention that we need to restrict the number of
flights we use.

(3) suggest the alternative way for reducing the problem of carbon dioxide
pollution.

(4) reinforce Deep’s contention that flights are a major contribution towards
increase of carbon dioxide level in the atmosphere.
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(8) WwyferTel fafka Fae fafine Irfe 93 *m (16 a%) FA. TRt soafrs a1 s
FIEE Fo B hedid d HdT FOATAT IIH H I, 3B WA T 7 THER INGFRE TEAT
T Ferea ‘whamed g NumET gy s sfufm-g2” ol SdTeR. e
T A T I ;A FAE T awiea sErEreE o/ fhar v v gum e dere i
EIEREH

(9) e TIbFRaE smamm fafed ool do dycarat SEETUeT € Ty TE U TOaTmaTETe
US g wEE TR, WA whameedragt Swarget e stued Iwwuiider Wl
AHASTEES T feratar wia a0 stravae .

9. 5h. 201.

q. %. 201.

sTqolT URel
Tl 9t T e Sl goE: vae w2
(1) Tand Farg awad (2) vy feenamr
(3) T TAEIEA U (4) TiTEHw MrEd
T W I IR C(3) TS UHAEd UF oW o, Wge W W S C(3)) #ed. dnae
et 939 3. 201 GElE - @) R ade e IrifEd e grahm smavs
R,
@@ @ @ @
T TR YR Yol Yol YENE guel JRL-HETE B greTen Tadsien et
ITuBFalle &1 o TEhHEERIE deiyd g4 Uiy SRifed wEd SR, Bt
T AT NS AU JOad, Ui at e 9 ares w9,
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